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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 4.34 54.23 | #nLS | 000 ~ 434 1.97 9.985 st 1.00 | 6.00 ~ 5.00 54.23 | =hS | 5,00 ~ 6.00| 1.97 9.95
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 437 54.55 | =nUS | 000 ~ 437 2.24 11.33 st 1.00 | .00 ~ 6.80 54.56 | TnLS | .00 ~ 680 2.24 11.33
3 100kN/m%E#BZ5 | 1.00 | 000 ~ 062 109.15 |3mEBZD| — ~ — — — | 100kN/ %825 | 1,00 | 12.11 ~ 1320| 109.15 |3m%E#Z5 - ~ — — —
s 1.00 | 062 ~ 840 100.00 | =nst | 0.00 ~ 840 | 2.04 10.29 st 1.00 | .00 ~ 1111 100.00 | =nLst | 6.00 ~ 1320 2.04 10.29
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 6.08 76.24 | FnLS | 000 ~ 000\ 1.70 8.59 st 1.00 | .00 ~ 7.00 76.24 | TS | 5,00 ~ 7.00| 1.70 8.569
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 477 59.40 | =nLS | 000 ~ 000 1.76 8.89 st 1.00 | .00 ~ 5.00 59.40 | =hLs | .00 ~ 500\ 1.76 8.89
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/m%#8% % ~ IMEBZD ~
zhst ~ zhst ~ Fhst ~ ZFhest ~
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/m%#8% % ~ IMEBZD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhnLst ~ ZhnLst ~ ZhLst ~ zhnLst ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




